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CP-IH/Cost Accounting-111/19
HCom, Pavt- N (Geneval) Examination, 2019
Sulyject t Cost Acvouiding
Paper 1 11
Group:11
Time: X Hows IFull Marks: 100
D0 ey bbb grgan indicate full marks,

iy iy avesited B give their answers in their own words
VR Y ticable.
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LooAnswer amy oM unatioum 2x8=16
MEiANY v e RR niavi B wvta g
(a)l What do vou nvan by Cost Unie?
WY e e & (aty
(DY What 0 "Opportunity Cost™? Give example.
RO ey S e
W) Define Inbirect Matenals with example,
BELIUNRY WIS THWIII J®@ @G
() Who s a Srore-keeper?
THATEI I A
(¢} What 15 Labourcost?
- 2
(N What do vou mean by Incentive Wages Payment System?
NSRS TR IS @ (A
(2) What 1s Machine Idle Time?
TR &R T I 1T
(h) Define selling overhead with example.
SEILNY f:-a. Rt i 3";1? qrIa A=A WTG.I
() Mention two areas of application of Contract Costing.
ey Rt gege 20 2wt cvg T I
() What do you mean by Marginal Costing?
eI & wE § @R
(X) What is “Value-added Cost™?
TEER §?
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() What is an ‘Indent’?
TIAAG FICE A2

(m) What is ‘Job Costing’?
I el IR FIE A

(n) What do you mean by Cost Accounting?
AR AR o100 B (@I

(0) What do you mean by ‘Overhead’?
AR I N @AM 2

(p) Write the full form of ‘V.E.D.’ analysis.
‘V.E.D.’ analysis-93 =[G *<f &l |

2. Answer any six questions: 6x6=36
FefRe @ @ 226 e e we ¢

(a) From the following information calculate Re-order Level, Minimum Stock Level and
Maximum Stock Level: 242+2=6

ﬁtmwmﬁam%zmmw,wﬁawmwﬁwmﬁcﬁw:

® ®

(ii)

Re-order quantity _ 12000 units
Normal consumption ~ 3000 units per week
Lead time 4 to 8 weeks
Minimum consumption 1550 units per week
Maximum consumption 4000 units per week
What do you mean by Job Evaluation?

I TR e
From the following information ascertain the total earnings of each worker separately

under Halsey scheme and Rowan scheme, Also calculate the effective hourly rate
of wages of the workers under both the schemes, 1+5=6

ﬁﬁﬁ%wmﬁcﬂwa@mﬁwmmammw fs 357 s
%WﬁﬁWI@WWWﬂ%TWﬁ@WI

Name of the workers *  Sujan Bijan
Time allowed (hours) : 5 6
Time taken (hours) : 4 5

Basic rate of wages perhour X) : 3,00 3.00
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(c) (i) What do you mean by Fixed Overhead? Give example.
g Solfipn St Suizad S|

(ii) The Overhead costs of a manufacturing concern as per primary distribution statement,
are as follows:

Production Department  Service Department

A - 12,000 - S; ¥ 2,000
B - ¥ 8,000 S, ¥ 1,000
C - ¥6,000

The expenses of service departments are distributed on percentage basis as follows:
A B C S1 S
S1 40 20 20 - 20
Sa 20 40 30 10 -
Find out the total Overheads of Production Departments after redistribution of the

service departments expenses by using ‘Simultaneous Equation’ method. 1+5=6

43T R erge @ GRIRSR TRl S safe M AT Tl

(d) (i) What is Cost Ledger?
S ARSI I @2

(ii) The Net Profits of D N Ltd. appeared at % 1,25,631 as per financial records for the
year ended 31.03.2014. The cost books, however, showed a Net Profit of T 2,03,466
for the same period. A scrutiny of the figures from both the sets of accounts revealed

the following:

54
Works Overhead under recovered — 3,560
Administrative Overhead over recovered — 1,850
Interest on Investment not include in costs — 10,400
Fines and Penalties not included in costs — 2,500
" Dividend received — 850
Profit on sale of machinery — 2,750
Transfer fees (in financial books) — 1,000
Bank Interest — 1,375
Income Tax provided in financial accounts — 80,000
Transfer to sinking fund (in financial books) — 10,000
Prepare a statement showing the reconciliation of the figures of Net Profits as per
1+5=6

cost and financial accounts.

Gola oYsl @A gt Feread R ogs Il |
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1 . : g ’?
(¢) (i) What do you mean by ‘Economic Order Quantity

Froal R~ e F AN

(i) What are the assumptions for determination of Economic Order Quantity? 2+4=¢
i at ¢ §

o w6 ~ifid s oFE SR F e

(f) (i) What do you mean by ‘Contract Costing’?

opfea AR fel e e & @2

(ii) How profit is computed in case of an incomplete contract? 2+4=6
PTlY it @ el [ zqe
(g) (i) What is Profit-Volume Ratio?
TAIT-oAfw SRpots e
(ii) From the following data find out Profit-Volume Ratio; Break-Even Point; Margin
of Safety. 1+5=6
e Safél (e SARp-sifime wrpeite’; mr Rep; Raiefer R Bl <)
Present volume of output — 8000 units
Present volume of sales — < 1,60,000
Variable cost for this output — ¥ 96,000
Fixed cost — 3 24,000

(h) (i) What do you mean by Direct Labour Rate?
AT D QT A0S @@l 2

facturing concern for the year 2016 :
G AR effobieT 2016 sy Aol Fevzmot 3
Factory Overhead

—_ 4 1,24,000
Direct Labour hours — 310000 hours
Direct Labour cogt —_ T 1,96,000
Machine hours — 10000 hours

From the above daty y i
. » Prepare overhea( application rateg using the following methods:
(I) Direct Labour Hourg

(I) Direct Labour Cog
(IIT) Machine Hourg
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1) What do you mean by Perpetual Inventory System?

SR VAR O A5 s B @i

(i1) Explain the advantages of Perpetual Inventory System

244=6
SR et il ~rfen FRuieR g w@i |
() Define Wages. What are the requisites of a good wages system? 1+5=6
TG K@l ne | 3 Te ARl ez weiind sz &
3. Answer any four questions: 12x4=48

@ (P BRI At e wie ¢

(@) (i) From the following Particulars prepare a Cost Sheet showing Raw Materials Consumed,

Prime Cost, Work Cost, Cost of Production, Cost of Good Sold, Profit or Loss for
the year ended 31.12.2009 :

01.01.2009 31.12.2009

.4 %
Stock of Raw Materials 12,550 10,910
Work-in-Progress 6,600 7,200
Finished Goods 13,660 14,500
Other data for the year are :
g
Purchase of Raw Materials . 2,25,500
Productive wages . 1,12,000
Selling overhead : 40,000
Sales . 5,92,250
Factory overhead : 87,600
Chargeable Expenses : 15,200
Office and Administrative overhead : 34,500

(ii) What is Cost Variance? 10+2=12

sifara AN e
® © What do you mean by INVENTORY?
Sl SRR A S T T N QN2
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(ii) The Stock in hand of a particular material as on 01.04.2010 was 500 units @< 2.00
per unit. The following purchases and issues were subsequently made. Prepare the
‘STOREs LEDGER A/c under Last-in-First out (LIFO) method. 2+10=12

01.04.2010 ®If3< 21T T52 77 500 unit 2% unit 2 51 BAE FeT SUef I3
FE CTE-HA-SNS T/ fofers @B ‘STORES LEDGER Alc 8@ @I ¢

April 6, 2010 Purchases 100 units @ ¥ 2.10 per unit
April 7, 2010 Issues 550 units
April 10, 2010  Purchases 700 units @ ¥ 2.20 per unit
April 11, 2010  Issues 450 units
April 17, 2010 Purchases 400 units @ T 2.30 per unit
April 18, 2010  Issues 400 units
April 20, 2010 Purchases 1000 units @ T 2.40 per unit

April 22, 2010  Issues 750 units

Aprl 23, 2010  Issues 300 units

April 24, 2010  Purchases 500 units @ T 2.50 per unit

April 26, 2010  Purchases 400 units @ ¥ 2.60 per unit

April 30, 2010  Issues 500 units 2+10=12

(c) (1) What do you mean by ‘COST-PLUS-CONTRACT"?
(i1) The following are the particulars in respect of contract No. Z-901 for the year ended
31.12.2015. Prepare ‘CONTRACT' Alc.
Contract No. Z-901 @7 fasfmfie faea® zts ‘CONTRACT' Al #%s ¥l ¢

4
Material sent to site 1,50,000
Wages paid 1,80,000
Wages unpaid 3,000
Other expenses 26,000
Plant sent to site 2,00,000
Materials returned to stores 5,000
Materials Laying unconsumed 8,000
Materials stolen from site 10,000
Insurance claim admitted for material stolen 7,000
Work uncertified 11,000
Cash received 3,60,000

Plant is subject to Depreciatioin @ 7%% p-a. and cash has been received to the extent

of 90% of work certified. Contract price is T 5,00,000. 2+10=12
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(1) Recommend the bases for the apportionment of the followi
RS wwwefm wisifes 350w R il e

Lighting, Supervision cost, Power

ng items of expenses:

ii) F i i i
(1) From the following particulars in respect of a machine compute Machine Hour Rate

Ffie Reel <20 <ot T Twes! 2w At et & S
Cost price of the machine < 2,00,000
Expected life 10 years
Scrap value < 20,000
Installation charges < 20,000
Repairs for 10 years life ¥ 1,800
Annual working time 2190 hours

Power 15 units per hour @ ¥ 5 per 100 units.
Rent ¥ 300 per month.
Lighting charges ¥ 80 per month.

Insurance 1% per annum.

The machine occupies %th of the area of the department and has two points out

of total ten for Lighting.

(e) (i) What is Margin of safety?
fRaier R e T2
(ii) Alfa Ltd. made sales during a certain period for ¥ 1,00,000. The net profit for the
same period was ¥ 10,000 and the fixed overhead were ¥ 15,000. Find out :
Profit Volume Ratio (P/V Ratio);

Break-Even Point (BEP) Sales;
Number of units to be sold to earn a profit o
s of ¥ 1,50,000.

f T 15,000; and

Net Profit from the sale

(f) (@) What do you mean by ‘Idle T ime’?

e AN FICE AC?
(ii) What are the causes of Idle Time?
S AR FIRPTR I1 Tl

s treated in Cost Accounts.

Riiced F20S CRAG! 28 T Tl
f ‘Idle Time’?

(iii) Explain how ‘Idle Time’ i
What are the different classes O

o e o TR W AL

2+4+4+2=12
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(g) (i) What is Group Bonus Scheme?
TS (@ A P2

(i) Distinguish between Cost Accounting and Financial Accounting. 2+10=12

sifEr BT @ Sfes RReweE Wi A I

(h) (i) What are the reasons for disagreement in Profit under Cost Accounts and Financial
Accounts?

%ﬁgﬂmewﬁ%mﬁcﬁwwmm} QERGEIE
?

(ii) Explain the advantages of Integral Accounting.
GFage RN AR § e

(iii) Explain the essential features of Integral Accounting. 4+4+4=12

GTage RFENReR SR @REeRTR [ |



